QUADRATIC EQUATIONS 1
Objective: Solving quadratic equations by factorisation
	x² + 5x = 6
	x² - x = 6
	2x² + x = 6

	x² + 5x – 6 = 0
	x² - x – 6 = 0
	2x² + x – 6 = 0

	(x + 6)(x – 1) = 0
	(x – 3)(x + 2) = 0
	(2x – 3)(x + 2) = 0

	x + 6 = 0
	x - 3 = 0
	2x – 3 = 0

	x = -6
	x = 3
	2x = 3

	x – 1 = 0
	x + 2 = 0
	x = 3/2

	x = 1
	x = -2
	x + 2 = 0


QUADRATIC EQUATIONS 1 (cont.)
Objective: Solving quadratic equations by factorisation

	x² - 7x = 18
	x² = 12 - 4x
	

	x² - 7x – 18 = 0
	x² + 4x – 12 = 0
	

	(x - 9)(x + 2) = 0
	(x – 2)(x + 6) = 0
	

	x - 9 = 0
	x - 2 = 0
	

	x = 9
	x = 2
	

	x + 2 = 0
	x + 6 = 0
	

	x = -2
	x = -6
	x = -2


